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QUESTION 1

You have been asked to deploy a single, 4 node VxRail cluster for company. They would like to migrate from their
existing vSphere 6.5 environment. They have also asked that vCenter Enhanced linked-mode be supported. Based on
best practice, what is the recommended deployment model? 

A. Use existing vCenter 6.5 with Embedded PSC 

B. Deploy Internal vCenter with External PSC 

C. Deploy Internal vCenter with Embedded PSC 

D. Use existing vCenter 6.5 with External PSC 

Correct Answer: D 

 

QUESTION 2

A company is planning to deploy VxRail for business critical applications. The solution should support automated
workload re-balancing. 

Which vSphere license is required for this solution? 

A. vSphere with Operations Management Enterprise 

B. vSphere Enterprise Plus 

C. vSphere Enterprise 

D. vSphere Standard 

Correct Answer: B 

https://davidring.ie/2016/02/16/introducing-vce-vxrail/ 

 

QUESTION 3

A customer requires a VxRail Stretched Cluster with E560F nodes in its minimal configuration. In addition, the cluster
should be able to use both erasure coding options. Which setup fulfills the requirement? 

A. 3+3 nodes 

B. 4+4 nodes 

C. 6+6 nodes 

D. 8+8 nodes 

Correct Answer: A 
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QUESTION 4

After powering on Dell PowerEdge-based VxRail nodes, what defines the primary node of the cluster being configured? 

A. Marvin 

B. PTAgent 

C. Loudmouth 

D. Election Process 

Correct Answer: D 

Reference: https://www.dellemc.com/en-us/collaterals/unauth/technical-guides-support-information/products/converged-
infrastructure/h15300-vxrail-network-guide.pdf 

 

QUESTION 5

What accurately describes the positioning of a VxRail? 

A. Can start small and grow with a low entry cost 

B. Software defined solution with rack scale and integrated networking 

C. Can start small and grow to hundreds of nodes 

D. Converged architecture with enterprise grade resiliency 

Correct Answer: D 

https://www.emc.com/about/news/press/2016/20161019-02.htm 

 

QUESTION 6

What type of license does the Doll 4100 OS 10 Switch require to support SmartFabric beyond the initial trial period? 

A. SmartFabric licensing 

B. Feature specific licensing for SmartFabric Services 

C. FullFabric Mode licensing 

D. Porpetual licensing 

Correct Answer: D 

 

QUESTION 7

A VxRail Stretched Cluster will be configured with four All-Flash nodes at each site based on the following
requirements: 
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PFTT = 1 SFTT = 1 FTM = Erasure Coding 

Based on the required usable capacity, what should be the planned capacity of the design? 

A. Single Site Capacity = 150% Total Cluster Capacity = 300% 

B. Single Site Capacity = 133% Total Cluster Capacity = 266% 

C. Single Site Capacity = 100% Total Cluster Capacity = 200% 

D. Single Site Capacity = 200% Total Cluster Capacity = 400% 

Correct Answer: C  

 

QUESTION 8

The Market Place on a VxRail Manager is empty on a newly deployed system. Testing shows that the Internet is
reachable through proxy in the management network. Which action should be taken to correct this situation? 

A. VxRail Manager has no proxy support. 

B. Upgrade tolatest version and add proxy configuration manually. 

C. Manually add the proxy information in the VxRail Manager configuration 

D. Reset the appliance and redeploy with proxy information filled in the deployment process. 

Correct Answer: B 

 

QUESTION 9

A 4 node VxRail solution will be deployed. Based on the exhibit, what will be the host name assigned to the last node in
the cluster? 

A. MyVxRaild.mycompany.com 

B. MyVxRail-4.mycompany.com 

C. MyVxRail-d.mycompany.com 

D. MyVxRail04.mycompany.com 
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Correct Answer: C 

 

QUESTION 10

What is the default VLAN ID of the Private Management VLAn network on a VxRail 4.7.x node? 

A. 0 

B. 1 

C. 3939 

D. 4095 

Correct Answer: C 

 

 

QUESTION 11

Which tool is required to re-image a VxRail G560F system? 

A. POST 

B. RASR 

C. MBS 

D. BOSS 

Correct Answer: B 

 

 

QUESTION 12

A VxRail Cluster setup with P570F nodes is used for product evaluation purposes at customer sites. Before moving the
Cluster to another customer site, it needs to be reset. 

Where is the image located to complete this task? 

A. SATADOM 

B. IDSDM 

C. BOSS 

D. MB Server 

Correct Answer: B 
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QUESTION 13

When adding a VxRail node the validation fails. What could be the cause of this problem? 

A. IPv6 multicasting is not enabled 

B. Only one network interface online 

C. Time on the node was not set correctly 

D. DNS record was not created 

Correct Answer: B 

https://community.emc.com/thread/236186?start=0andtstart=0 

 

QUESTION 14

When populating the VxRail First Run Wizard for an External vCenter solution what is the recommended format for
hostnames? 

A. vCenter, PSC, and VxRail Manager use host name only 

B. vCenter and PSC use FQDN; VxRail Manager uses host name onl 

C. VxRail Manager and vCenter use FQDN; PSC uses host name only 

D. vCenter. PSC, and VxRail Manager use FQDN 

Correct Answer: A 

 

QUESTION 15

What data protection methods are included with the VxRail Appliance? 

A. Stretched Clusters RecoverPoint for VMS vSphere Replication 

B. RecoverPoint for VMs Data Domain Stretched Clusters 

C. Stretched Clusters Netbackup VSphere replication 

D. vSphere Replication RecoverPoint for VMs Avamar 

Correct Answer: A 
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